ASSIGNMENT 01

QUESTION 1

Explain briefly why it may be said that ex parte applications constitute an exception to the audi alteram partem doctrine. 




[4]

The audi alteram partem rule, if applied to the sphere of civil procedure, means that every person is entitled to be heard before an order or judgment is granted against him or her. For this reason, the courts meticulously enforce the requirement that a party be timeously notified of any steps to be taken against him or her, to enable such party to reply to the case against him or her and to place his or her case before the court. In this way, the rule protects those whose rights may be affected by an order, or whose interests may be affected by it. Against this background it is clear why an ex parte application is an exception to this rule: an ex parte application may be heard by the court without notice being given to anyone.

Note that the question contains a reference to ex parte applications, as well as to the audi alteram partem rule. This indicates that you should deal with both aspects in your answer.

QUESTION 2

D issues a summons against Y. Y queries whether D’s attorney acted under a proper mandate from D, because no document has been filed with the registrar that identifies him as D’s attorney. Discuss the merits of Y’s objection. 

[4]

A power of attorney offers proof of the existence of a mandate from a client to an attorney, and also of its contents and its extent. It therefore identifies the party’s attorney. In terms of Rule 7(1) of the Uniform Rules of Court, the filing of a power of attorney is not required for the issuing of a summons (or even for the entering of an appearance). However, it is required for the conduct or defence of a civil appeal in the High Court (Rule 7(2) and 7(3)). In this particular instance, we are dealing with the issuing of a summons, and therefore Y’s objection is without merit.

Note: consider the merits of the objection, not discuss the power of attorney as such. However, in view of the objection it is relevant to briefly indicate what a power of attorney is, as well as its purpose. This also forms the logical starting point for evaluating the objection.
QUESTION 3

While overseas furthering her studies, judgment by default is granted against X in the Pretoria High Court. Upon her return to South Africa, X learns that the plaintiff also applied for a writ of execution. X approaches you for advice and alleges that the summons was never served on her, that for the past six months she was overseas and that the plaintiff was aware of this fact, because before her departure she arranged with the plaintiff to pay him the amount owing within seven days after her return.

(a) Advise X on what to do in these circumstances. 



(4)

X may, within 20 days after this judgment has come to her knowledge, apply to court to have the judgment set aside. Since the court has a discretion whether or not to set aside this judgment, X must also advance sound reasons for her failure to enter an appearance. 

Note: you need not memorise the specific number of days – it is sufficient if you stated “within the prescribed period of time”. The stated period does not run from the date of judgment, but from the date of knowledge. From the facts given it is clear that X did not enter an appearance to defend, and therefore you should indicate that this is what she failed to do.
(b) Indicate briefly the court’s interpretation of the expression “sound reasons” in this context. 








(3)

This means that

• a reasonable explanation must be given for the failure

• the application must be bona fide, and not merely a delaying tactic

• the defendant must have a bona fide defence.
(c) If the plaintiff may proceed to enforce the judgment, indicate the order in which X’s property may be attached. 





(2)

Execution is first levied on movable property, and then, circumstances permitting, on immovable property.
Note: You simply had to state the general principles which apply, not indicate the particular circumstances which would allow execution of immovable property. 

QUESTION 4

C and D conclude a contract. D commits breach of contract. C wishes to bring an action for breach of contract and claim damages.

(a) Identify the form of proceedings C must use to approach the court for relief. (1)

Summons procedure
(b) Name the document that will be used to institute the action. 

(1)

Combined summons
(c) Name and discuss briefly the material documents that C and D would normally exchange in order to reveal the issues in dispute. 




(6)

Combined summons: this document consists of a summons part (which is a formal, prescribed document) and the particulars of claim (which contains the material facts relied upon by the plaintiff in support of his or her claim).

Plea on the merits: this document contains all material facts relied upon by the defendant in support of his or her defence.

Replication: this document contains the plaintiff’s answer/reply to the defendant’s plea on the merits if the defendant raised new averments as to fact in his or her plea.

Note: in the first instance you should indicate only the form of the proceedings (that is, the one of the two forms that may be used to institute an action), without any discussion. In the second instance you should indicate the specific type of summons. According to the facts given we are dealing with a claim for damages, which is an unliquidated claim (requiring use of the combined summons). In the final instance you should name and discuss the pleadings usually exchanged between the parties. 
How does one know that pleadings are being discussed? One of the functions of pleadings is to define issues in dispute and if this is borne in mind, the wording of the question then leads to the answer in question (c). The use of the word “usually” limits the number of pleadings and does not allow for a discussion of all the possible pleadings that can be exchanged, but only for a discussion of those pleadings that are exchanged in the normal course of events.
ASSIGNMENT 02

QUESTION 1

Indicate the statement which is the closest to correct:

An ex parte application may be used when applying

(1)
for an order of arrest suspectus de fuga

Incorrect - The procedure for obtaining an order for the arrest suspectus de fuga is governed by Rule 9 of the Uniform Rules of Court and is by writ of arrest addressed to the sheriff and to the officer commanding the goal. The writ must be as nearly as possible in accordance with the relevant form (Form 4, Schedule 1) to the Uniform Rules of Court.

(2) 
to attach property ad fundandam iurisdictionem

Because an ex parte application is heard without notice being given to anyone, it may be brought only in exceptional circumstances. One such exceptional circumstance arises where the relief sought is a preliminary step in the proceedings, as in the present instance where an application to attach property ad fundandam jurisdictionem is made.

(3) 
for a final interdict

Incorrect - A final interdict can be instituted by way of action as well as notice of motion.
(4) 
for an amendment of access rights in respect of minor children by one of the parents.

Incorrect - An ex parte application can never be used under these circumstances. Where one parent seeks to amend the access rights of the other parent, one is clearly dealing with a situation where the rights of a person is affected; such a person will obviously have an interest in the order given by the court. Such a person (parent, in our facts) should therefore receive notice of the proceedings.
QUESTION 2

Indicate the statement which is the closest to correct:

If the plaintiff’s claim is based on an acknowledgment of debt, the action may be instituted by way of the following summons:

(1) 
only the simple summons

Incorrect - Neither type of summons is the only option.
(2) 
only the provisional sentence summons

Incorrect - Neither type of summons is the only option.
(3) 
only the combined summons

Incorrect - a combined summons is only used where the claim is unliquidated. A claim for damages is an example of such a claim.
(4) 
both the provisional sentence summons and the simple summons.
Both types of summonses can be used. An acknowledgement of debt not only fulfils the requirements set for qualifying as a liquid document, but due to its nature it also falls within the description of a “debt or liquidated demand”. In practice the plaintiff’s choice between the provisional sentence summons and the simple summons will be influenced by considerations of cost and procedural effectiveness.

QUESTION 3

Indicate the statement which is the closest to correct:

D wishes to divorce her husband, F. F lives and works in London, but D does not know his

exact whereabouts. The summons must be served on F

(1) 
by way of substituted service (because F’s exact whereabouts are unknown)

Incorrect - Substituted service is effected where the defendant is within the borders of the Republic, but his or her exact whereabouts are unknown. In the given facts F is clearly outside the borders of the Republic.
(2) 
by way of normal service (because it is a matrimonial action)

Incorrect - normal or ordinary service can obviously not take place in respect of a person outside the borders of the Republic without leave of the court (see Rule 5 below). The fact that this is a matrimonial matter and that most courts insist on personal service in such matters, does not change the position as the provisions of Rule 5 are compelling.
(3) 
by way of edictal citation (because F is overseas)

Rule 5 of the Uniform Rules of Court prescribes the method of service on a defendant who is (or is believed to be), outside the borders of the Republic. Whether or not the defendant’s exact address is known does not change the fact that edictal citation must be used. In fact, it is the only manner in which such a person can be summonsed before our courts.
(4) 
by way of a combination of substituted service and edictal citation (because of a


combination of factors).

Incorrect - no such method of service exists. Such a method would in any event have been nonsensical as the two methods referred to are opposites.
QUESTION 4

Indicate the statement which is the closest to correct:

X sues Y in the Transvaal Provincial Division of the High Court. X subsequently moves to Cape Town and sues Y in the Cape Provincial Division of the High Court in respect of the same cause of action. To prevent the second action against her being proceeded with, Y must

(1) 
raise an exception

Incorrect - In contradistinction with a special plea, the cause for complaint appears ex facie the pleading where an exception is taken to a pleading.
(2) 
deliver a special plea

A special plea is a means of raising an objection against facts which do not appear in a particular pleading and which, if the objection is upheld, will either destroy or postpone the action. In the present instance, the fact that an identical action has already been instituted will not appear from the declaration or particulars of claim. To prevent the continuation of the second action, Y must therefore raise a special plea of lis pendens (action pending).

(3) 
apply for the striking out of the matter

Incorrect - This type of objection is directed at matters contained in a pleading and thus apparent on reading.
(4) 
in terms of Rule 30 of the Uniform Rules of Court apply to have the summons set aside


as an irregular proceeding.

Incorrect - Although an irregular proceeding is not defined in the Rules of Court, it is generally understood to refer to a formal irregularity, in other words, the noncompliance with formal requirements in respect of procedural matters. In this instance there is no question of non-compliance with some or other procedural requirement.
QUESTION 5

Indicate the statement which is the closest to correct:

(1) 
Although the general rule is that evidence must be given viva voce and in open court,


the court may, for sufficient reasons, order that evidence be given on affidavit.

Rule 38(2) specifically provides for this possibility. Please note that the test is whether or not “sufficient reason” exists. If not, the court will not order that evidence be given on affidavit. Furthermore, if the court is of the opinion that a party would reasonably need to cross-examine a witness and that such witness can be produced, evidence on affidavit will not be allowed. Such witness will have to give oral evidence.

(2) 
If a defendant fails to timeously give notice of intention to defend, the plaintiff must first give a notice of bar before he may apply for default judgment against defendant.

Incorrect - If a defendant fails to enter an appearance to defend, such defendant is not a party before court and there is thus no reason why he or she should receive any further notice. The plaintiff may go ahead and apply for default judgment.
(3) 
Passengers of a minibus suffer damage in that their personal possessions are either damaged or destroyed in a collision. Because actions for damages tend to be of a protracted nature and most passengers involved suffer financial hardship while the action drags on, the passengers may, in terms of Rule 34A of the Uniform Rules of Court, apply to court for interim payment.

Incorrect – Interim payment will only be ordered in an action for damages as a result of either personal injuries or the death of a person, and not for damages due to loss of or damage to personal property.
(4) 
If a plaintiff issues two summonses against the same defendant on the same cause of action and in two different courts, the defendant may approach the court to have the more recent summons struck out on the ground that that summons is irrelevant.

Incorrect - The defendant’s remedy is a special plea of lis pendens.

QUESTION 6

Indicate the statement which is the closest to correct:

(1) 
Shortly after the granting of judgment against Y (the defendant), X (the plaintiff), learns that Y is about to leave the country. According to X’s attorney an order of arrest suspectus de fuga would be the proper remedy with which to prevent Y from leaving the country in order to avoid payment of the judgment debt.

Incorrect - This is not the appropriate remedy at this point, since judgment has already been given and an order for arrest suspectus de fuga only remains in force until judgment is granted (thus ensuring an effective judgment). It is thus an arrest to abide by the judgment of the court and not to perform the judgment.
(2) 
A High Court will make an order, or give a judgment, only if the parties have
exchanged pleadings or process documents.

Incorrect - An exchange of pleadings or process documents is not a prerequisite for judgment. Examples are default judgment where a defendant fails to deliver a notice of intention to defend and ex parte applications
(3) 
Pre-trial judgments, just like post-trial judgments, bring matters to a close.

Although there is no statutory definition of a “judgment”, it refers to a decision of a court upon relief claimed in an action: see Constantia Insurance Co Ltd v Nahamba 1986 3 SA 27 (A) 43. The normal rule is that a judgment, once delivered, is final and not subject to variation. (However, exceptions to this rule exist.) The purpose of a judgment is to bring finality to proceedings. Therefore the effect of a pretrial judgment and that of a judgment after trial is the same.

(4) 
The material difference between inspection in terms of Rule 35(14) and inspection in terms of Rule 35(6) of the Uniform Rules of Court is that in the former information is requested for the purposes of pleading, and in the latter for the purposes of preparation for trial.

Largely correct but incomplete and therefore not as correct as option (3) - In general terms it is also important to note that Rule 35(14) refers to inspection before close of pleadings and Rule 35(6) to inspection after close of pleadings. The other difference lies at a deeper level. The application of Rule 35(14) is far narrower than that of Rule 35(6). In terms of the former, inspection of a clearly specified document or recording which is relevant to a reasonably anticipated issue in the action is requested, whereas in the latter inspection of any document or recording disclosed which relates to any matter in question in such action, whether arising between the plaintiff and defendant or not is requested.

QUESTION 7

Indicate the statement which is the closest to correct:

(1) 
An interdict may be defined as an extraordinary procedure, the object of which is to


protect a person against the unlawful deprivation of his or her rights.

Incorrect - A procedure and a remedy are two different matters. An interdict is a remedy and is sought by way of a particular procedure (either action or notice of motion).
(2) 
Negotiable instruments are the only documents that, by definition, are liquid documents.

Incorrect - Any document which meets the requirements set in the definition for a liquid document could be one. One such a document is an acknowledgment of debt. Negotiable instruments are only the best known examples of liquid documents.
(3) 
If a court makes a costs order in terms of which each party pays his own costs, the effect of such an order is as though attorney-and-client costs are awarded against each party with regard to his own costs.

The keyword is effect. The court has a wide discretion as to the types of costs orders that it may make, and if it orders parties to pay their own costs, this is exactly what it amounts to: it is as if a party has been ordered to pay attorney and client costs (i.e., the costs of all professional services rendered by his or her attorney).
(4) 
A case that has been closed may be reopened only if a party can show that he could not reasonably have known that certain facts are relevant to the case.

Incorrect - The stated factor is not the only factor. The court must also consider whether the applicant has displayed proper diligence in endeavouring to procure the evidence; whether the evidence which the applicant proposes to lead is material and the possibility that the other party may be prejudiced by the re-opening of the case.
QUESTION 8

Indicate the statement which is the closest to correct:

(1) 
In principle, both the plaintiff and the defendant may, after pleadings in a matter have


closed, set down the case on the roll for the allocation of a trial date.

In principle the plaintiff is dominus litis and consequently has the right to apply for set-down in the first instance. However, this right is not absolute, and nothing prohibits the defendant to apply for set-down if the plaintiff neglects to do so within a certain period after close of pleadings.

(2) 
If a party or his or her attorney fails to attend a pretrial conference properly convened


in terms of Rule 37 of the Uniform Rules of Court, the court may penalise such conduct


at trial by ordering him or her to pay party-and-party costs.

Incorrect - Rule 37(9) provides that the court must consider whether a special order as to costs should not be made against such a party.
(3) 
Because the South African legal system forms part of the Anglo-American legal


system, the principle applies that the losing party in a court case is ordered to pay the


winning party’s legal costs.

Incorrect - The principle in the Anglo-American legal tradition is that the loser pays the winning party’s legal costs (apart from his or her own costs). However, this is not an inflexible rule and has never been applied in such a manner as to interfere with a court’s wide discretion when awarding costs.
(4) 
High Court judgments are enforced by way of a writ of execution, issued by the registrar of the Court concerned.
Partially incorrect - a writ of execution is only applicable where an order ad pecuniam solvendam is enforced against a person’s property. In the case of an order ad factum praestandum, orders are enforced by means of an order to commit for contempt of court
QUESTION 9

Indicate the statement which is the closest to correct:

(1) 
After entering an appearance to defend, the defendant, in order to raise a defence on


the merits, must deliver a plea on the merits, together with a special plea.

Incorrect - A defendant is not compelled to deliver a special plea. A special plea is a means of raising an objection in particular circumstances, and may only be delivered if grounds exist that would give rise to an objection.
(2) 
The grounds on which an application to strike out may be brought in the magistrate’s


court are more extensive than those on which such application may be brought in the


High Court.

The statement is correct when the content of Rule 23(2) of the Uniform Rules of Court is compared with that of rule 17(6) of the magistrate’s court rules. In the High Court striking out is limited to statements that are “scandalous, vexatious or irrelevant”, whereas in the magistrate’s court the defendant may apply to strike out any one of two or more claims in a summons which, not being in the alternative, are mutually inconsistent, or are based on inconsistent averments of fact, or may apply to strike out any vexatious, irrelevant, superfluous or contradictory matter.

(3) 
Lower court proceedings are reviewed by way of the summons procedure.

Incorrect - Rule 53 of the Uniform Rules of Court provides that lower court proceedings be reviewed by way of application procedure on notice of motion.
(4) 
A party may rectify an error in his or her pleading by simply lodging an application for


leave to amend and offering to pay costs.

Incorrect - In both the High Court (Rule 28 of the Uniform Rules of Court) and the magistrate’s court (rule 55A of the magistrate’s court rules) very specific provisions regulating the amendment of pleadings are found, and entails, amongst others, that notice of such amendment must first be given to the opponent and that the opponent must be given the opportunity to object to the amendment. It is customary to tender costs in the notice of intention to amend and the purpose is to compensate the opponent for costs occasioned by such amendment. However, such costs do not necessarily compensate for all prejudice suffered, and in such event the court will not grant the amendment.
QUESTION 10

Indicate the statement which is the closest to correct:

(1) 
Although a magistrate may, during a trial, recall any witness for further examination,


he or she may not mero motu call a new witness.

Rule 29(12) authorises the court to recall any witness for further examination on its own motion or on application by either party and at any time before judgment, but does not provide for the court of its own motion to call any new witness to testify. This has been confirmed in Rowe v Assistant Magistrate, Pretoria 1925 TPD 361.

(2) 
If a plaintiff in a magistrate’s court action adduces new allegations of fact in his or her


reply, the defendant may react to it by way of a rejoinder.

Incorrect - The reply is the final pleading that may be delivered by the parties during the exchange of pleadings in the course of an action in the magistrate’s court. Rule 21(4) of the magistrate’s court rules provide that pleadings will be deemed to be closed upon expiry of the period allowed for reply.
(3) 
The single judge of the High Court whose judgment or order is being appealed against


may sit on the full bench at the hearing of the appeal.

Incorrect - Section 13(2)(b) of the High Court Act, 1959 expressly forbids such a single judge to sit on the full bench hearing the appeal.
(4) 
If the court has granted absolution from the instance, the matter is res iudicata, and the defendant will be able to raise this defence if the plaintiff again issues a summons on the identical cause of action.
Incorrect - The effect of such an order is to place the parties in the same position as if the action has never been brought. The result is that the plaintiff may again take out a summons and sue on the identical cause of action. The reason is that, on the evidence placed before it, the court could not give judgment in favour of either party and therefore the matter cannot be said to be res iudicata: for this, the matter would have had to be decided by a judgment which was final and which determined the rights of the parties.
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